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Modelling with Boolean Equations:
Secrets of a Long Live

1) If | don’t drink beer, | —B—F = 1
always eat fish BAF — -l = 1

2) If | have both beer and lv—B — —F =1
fish, | don’t have ice

cream
3) If I have ice cream or B=1
do not drink beer, | —Fyv—l =1

don’t have fish solved form




Modelling with Boolean Equations:
Graph Coloring

Colorings of the graph
are the solutions of the
equations

Is graph bipartite”? Is graph 4-partite?
X#y, X#z, y#z (X1,%0) # (Y1,Y2)s -
X=y, ... Xy vl oY) =1, ..
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Often, terms and equation
systems are used to

BOOIean FunCtlons describe Boolean functions,

(e.g., hardware design)
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